BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

1000 10*

100

rm317 2/(409481 —~5040)=0.917

BIC 436158 72 ABIC O. OOO AlogP 0.0000
i : x 371028.59 Ax 0.000 AlogP 0.0000 1
e = - — — - — - - — —
T Sy — .. .. —————9'—'9_
i Z ABIC —841309 |
i : M —841309 |
5040 : 5040
A ' AC5

S o S S (S S HE S S A S

10 20 30 40 50 60
60 iterations

rm317 2/(409481—504-0) =0.917
E T T T T ‘T ‘' T T T T T T T T T T T T — 1§
F : BIC 436158 72 ABIC O. OOO AlogP 0.0000 7
e A v % 371028.59 Ax 0.000 ‘AlogP "0.0000 3
= k
60
Fe2 12% 5414261 km/s
rm317 BLR 10180 NLR 900 km/s
T+ T+ [ T T T+ T [ T T T T [ T T T T [ T T T T [ T T T T [

60 iterations

BIC

BLR

NLR
Fell

kdh1 8-0ct-2021 17:14



